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	Reason for change:
	When creating the SI2Quater message for GERAN cell, if there are 4 EUTRA neighbour cells present (depending on the band combination being tested), the current TTCN implementation splits the message into 2 instances, with the 1st including the first three EUTRA neighbours and the 2nd instance having the 4th neighbour. When test case 8.3.2.6 is run in the band combination E40-UA-G900 it is observed that the first instance of the SI2Quater message is 24 bytes long, exceeding the maximum of 23 bytes defined in 44.018 clause 9.1.34a. 



	
	

	Summary of change:
	Changes have been made to split the 4 EUTRA neighbour cells equally between the two SI1Quater instances, with two EUTRA neighbours in each.

	
	

	Consequences if not approved:
	The test case may not execute correctly in TDD band combinations.

	
	

	Clauses affected:
	8.3.2.6

	
	

	
	Y
	N
	
	

	Other specs
	
	X
	 Other core specifications

	TS/TR ... CR ... 

	affected:
	
	X
	 Test specifications
	TS/TR ... CR ... 

	(show related CRs)
	
	X
	 O&M Specifications
	TS/TR ... CR ... 

	
	

	Other comments:
	


Change 1 
	Function name
	f_GERAN_SystemInformation_InterRAT

	Reason for change
	When creating the SI2Quater message for GERAN cell, if there are 4 EUTRA neighbour cells present (depending on the band combination being tested), the current TTCN implementation splits the message into 2 instances, with the 1st including the first three EUTRA neuighbours and the 2nd instance having the 4th neighbour. When test case 8.3.2.6 is run in the band combination E40-UA-G900 it is observed that the first instance of the SI2Quater message is 24 bytes long, exceeding the masimum of 23 bytes defined in 44.018 clause 9.1.34a. 



	Summary of change
	Changes have been made to split the 4 EUTRA neighbour cells equally between the two SI1Quater instances, with two EUTRA neighbours in each.

	TTCN module
	IWD_14wk10_LTE\LTE_IRAT_IWD_14wk10\Common\GERAN\GERAN_CellInfo.ttcn


Before change

  function f_GERAN_SystemInformation_InterRAT ( GERAN_CellArray_Type p_CellArray,

                                            IRAT_CoOrd_SysInfo_List_Type p_SysInfoList) return GERAN_CellArray_Type

  {

    var CoOrd_EUTRASysInfo_List_Type v_EUTRA_SysInfo;

    var CoOrd_UTRANSysInfo_List_Type v_UTRAN_SysInfo;

    var template (value) GERAN_CellArray_Type v_CellArray := p_CellArray;

    var template (value) EUTRANMeasParams_SI2 v_EUTRA_SI2_1, v_EUTRA_SI2_2;

    var integer v_Index := 0;

    var integer v_NoOfPTCs := lengthof (p_SysInfoList);

    
.


.

 
.

        } else if (lengthof(v_EUTRA_SysInfo)==4) {

          v_EUTRA_SI2_1 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList3(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[2].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[2].DL_Bandwidth)))); // @sic GP-120009, R5s120129 sic@

          v_EUTRA_SI2_2 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList1(int2bit(v_EUTRA_SysInfo[3].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[3].DL_Bandwidth)))); // @sic GP-120009, R5s120129 sic@

          // We now have 2 instances of this message @sic R5s120323 sic@

          v_EUTRA_SI2_1.eutranMeasParams.eutranStop := '0'B; //  @sic R5s120476 sic@

          v_EUTRA_SI2_2.eutranMeasParams.eutranStart := '0'B;

        }

        if (v_NoOfPTCs == 2) {

          if (ischosen(v_UTRAN_SysInfo[0].FDD)) {

            if (lengthof(v_EUTRA_SysInfo)==4) { // @sic R5s120129 sic@

              v_CellArray[v_Index].sysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0011'B, // @sic R5s120021, R5s120129 sic@

                                                                          '0'B, // @sic GP-120371 
.

.

.
  }                      

After change

function f_GERAN_SystemInformation_InterRAT ( GERAN_CellArray_Type p_CellArray,

                                            IRAT_CoOrd_SysInfo_List_Type p_SysInfoList) return GERAN_CellArray_Type

  {

    var CoOrd_EUTRASysInfo_List_Type v_EUTRA_SysInfo;

    var CoOrd_UTRANSysInfo_List_Type v_UTRAN_SysInfo;

    var template (value) GERAN_CellArray_Type v_CellArray := p_CellArray;

    var template (value) EUTRANMeasParams_SI2 v_EUTRA_SI2_1, v_EUTRA_SI2_2;

    var integer v_Index := 0;

    var integer v_NoOfPTCs := lengthof (p_SysInfoList);
  
.

  
.


.

        } else if (lengthof(v_EUTRA_SysInfo)==4) {

          v_EUTRA_SI2_1 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList2(int2bit(v_EUTRA_SysInfo[0].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[0].DL_Bandwidth), // @sic GP-120009 sic@

                                                                                               int2bit(v_EUTRA_SysInfo[1].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[1].DL_Bandwidth)))); // @sic GP-120009, R5s120129 sic@

          v_EUTRA_SI2_2 := cs_EUTRAN_MeasParams_SI2 (cs_RptdEARFCNNeighCells (cs_RptdEARFCNList2(int2bit(v_EUTRA_SysInfo[2].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[2].DL_Bandwidth),

                                                                                               int2bit(v_EUTRA_SysInfo[3].Arfcn, 16),

                                                                                               f_GERAN_ConvertIntegerToEUTRA_MeasurementBandwidth (v_EUTRA_SysInfo[3].DL_Bandwidth)))); // @sic GP-120009, R5s120129 sic@

          // We now have 2 instances of this message @sic R5s120323 sic@

          v_EUTRA_SI2_1.eutranStop := '0'B; //  @sic R5s120476 sic@

          v_EUTRA_SI2_2.eutranStart := '0'B;

        }

        if (v_NoOfPTCs == 2) {

          if (ischosen(v_UTRAN_SysInfo[0].FDD)) {

            if (lengthof(v_EUTRA_SysInfo)==4) { // @sic R5s120129 sic@

              v_CellArray[v_Index].sysInfo.si2quater_1 := cs_SysInfoType2quater(cs_SI2quaterRO('0000'B,

                                                                          '0011'B, // @sic R5s120021, R5s120129 sic@

                                                                          '0'B, // @sic GP-120371 

.


.


.

    return valueof (v_CellArray);

  }                      

